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Warm Up Grade 8

bl

1) Use rules
a) (-7) (-11) b) (-56)+(-2) c) (+14)x (-2)  d) (+24)+(-4)

& 3)1) G(b 2%) (Ebzx) %} 6)

2) Write a division equation for the following number line.

5 11 10 8 8 T 65 45 51 0+ 5 15 +4 4576 +7 76 10 710 +11 12 +I3

Mu ld: eV 'D‘\\ns:n (Rc-\&\'k“"“
( QC(DNS x( VS’ a<> (S“N’) %

D1 ) =08 (R):¢) 42

3) Find the product using the distributive property Pox method

(-25) x (-31) = !-I— 115 '@ (ShOW all WOrk)
30
QO 20X 30
= 600
—
5 |3
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Page 81-82 homework solutions

11) Rose 3° each hour for a total change of +12°.
(+12) + (+3) = (+4)

It took 4 hours for the change in temperature

12) Fell 4°C each hour for a total change of -20°C.
(-20)+(-4) = (+5)

It took 5 hours for the temperature change

Made 4 identical plunges in a row to a final depth
of 148 below surface.

(-148) + (+4) = (-37)

—-148



gr 8 u2 int day 6 Mid Unit Review (Solutions to pg 81-82).notebook

Page 81-82 homework solutions

14) (+45) + (-5)=(-9)
Ted returned 5 books to the library and

received $45 dollars back. How much
had each book cost?

15) (-12) +(+6) = -2
The temperature dropped for 6 hours for

a total change of -12°C. How much did it
drop each hour?

16) 6 cm to the left each minute (-6)
a) (-36)+(-6) = (+6)

September 13, 2023

Takes 6 minutes for the snail to reach -36

b) 6 cm to the left each minute (-6)
(+18) = (-6) =(-3)

3 minutes ago the snail was at +18
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q
) q o (9)x L b)= U8

&,&) +% )._35%")"':_"
a(+a) xGFOT= 9) € ) =+

) (+0) X (N =-bb W) (8) xG)=+S
Q) (+96) ¥ le)==b
d) (v39):43) = 8



gr 8 u2 int day 6 Mid Unit Review (Solutions to pg 81-82).notebook September 13, 2023

review
With word problems

When given a number and it is repeated and asked
to find a total then (__)x(__)=(_)

When given a number and it shared or group and
givenatotalthen (_ )= (_)=(_)

For modelling

i) Tile multiplication
Only use zero pairs when (-) x # since it means remove groups of #

ii) Number line multiplication
Only use (+) x (#) = (Total stop).....start at zero and

_ his is jump size with direction
# of jumps

Ex) (+2) x (-4) =

2 jJumps of size -4

S T T

III)I'o use a number line for division always think of the reverse of
multiplication (The rewrite intQ division)

( #3umps) X, (arrow s7Le) = Stop
—DWis,
(S‘\‘D p) ~ (a rrow $72¢) < (\ 3\",,95>

or

(Total length) + (arrow size) = # of arrows
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Class/Homework 8

Page 83 44 4o #6, 47, #3, #9a, #11

Doy

MODEL'ONLY 1A THEN USE RULES FOR REST PART IN # 1

Short warm up quiz on (Tomorrow)

x and + rules
Number line x and +  (Write the equation for a given number line)
Box Method
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